ISO STALBOSNING

61-63 HRc

VIR

d2j54

L1

1230 ISO - d1 X L1

30 24-25 40 | 77 38-40 58 | 120

1516 | 28 | 37 30 37

47 37 47

60 47 60

30 30-32 48 | oo 48-50 70 | -

37 77 95

19-20 32 | 47 95 120

60 30 60

77 37 77

60-63 85

04-95 a0 | 37 60 120
47 77
60 95

dojs4

ds

dy
Bl
d;

5| | s 1267 1ISO a
Lo =2 M6 x 20
L 3x 0,232 1231.1 1SO - d;
4x d=38
d L L, Ls d, de da ds dy m
19- 20 59 03 36 64,7 52 39 40 32
24 - 25 79 56 72,7 60 46 48 40
30 - 32 93 30 63 79,7 67 53 56 48
38-40 | 108 37 71 89,7 77 63 66 58
48-50 | 127 47 80 103,7 91 77 80 70
60-63 | 150 60 90 118,7 106 92 95 85

POWER TOOLS ApS

Stengardsvej 19 - DK-4340 Tollgse - TIf. 59194058 - www.power-tools.dk - Mail: info@power-tools.dk




ISO STALBOSNING

61-63 HRc

6|y | 6 1267 ISO L -
N N M6 x 20
! 3x dy=32 1231.2 I1SO - d4
4x dy=38
d4 L4 L, L3 d, de dy ds d,
24 - 25 80 30 50 72,7 60 46 48 40
30 - 32 93 37 56 79,7 67 53 56 48
38 - 40 110 47 63 89,7 77 63 66 58
48 - 50 131 60 71 103,7 91 77 80 70
61-63 HRc
41V NI 4 . r::"L [
— | -:
BN 1267 1SO L =
Ls g = M6 x 20
1 3x dy=32 1231.3 ISO - d;
4x dy=38
d, L, 1P L3 d; de d, ds d,
24 - 25 55 30 25 72,7 60 46 48 40
30 - 32 69 37 32 79,7 67 53 56 48
38 -40 79 47 32 89,7 77 63 66 58
48 - 50 96 60 36 103,7 o1 77 80 70

POWER TOOLS ApS

Stengardsvej 19 - DK-4340 Tollgse - TIf. 59194058 - www.power-tools.dk - Mail: info@power-tools.dk



ISO STALBOSNING

61-63 HRc

\\ I f
lliassin 111l
6 6 1267 ISO L
L Lo M6 x 20
L i e 1231.4 1SO - d;
4x dy=38
d L L, Ls d, de da da d, m
19 - 20 43 o3 20 64,7 52 39 40 32
24 - 25 59 36 72,7 60 46 48 40
30 - 32 75 30 45 79,7 67 53 56 48
38 - 40 82 37 45 89,7 77 63 66 58
48 - 50 97 47 50 103,7 o1 77 80 70
60 - 63 116 60 56 118,7 106 92 95 85
61-63 HRc
E N ‘5 ° ﬁ ¥ | l
G ;
6 1267 ISO J
Lo | L M6 x 20
= 3x =32 1231.51S0O - d;
4x dy=38
d L L, Ls d, de ds ds dy
19-20 a5 03 64,7 52 32 40 32
24 - 25 12 72,7 60 40 48 40
30 - 32 42 30 79,7 67 48 56 48
38 - 40 52 37 15 89,7 77 58 66 58
48 - 50 65 47 18 103,7 91 70 80 70
60 - 63 80 60 20 118,7 106 85 05 85

POWER TOOLS ApS

Stengardsvej 19 - DK-4340 Tollgse - TIf. 59194058 - www.power-tools.dk - Mail: info@power-tools.dk




ISO DEMONTERBAR BOSNING

3460

©

7 | © 61-63 HRc

G

A
" NI

ds

L Lo
B 1232.1 IS0 - d;
d L L, Ls t K de ds da dp m
19-20 52 37 15 4,6 18 4,5 40 50 32
24 - 25 62 25 5.7 23 55 50 63 40
30-32 | 72 47 ’ 28 ’ 58 72 48
38 - 40 77 30 6,8 33 6,6 70 85 58
48 - 50 38 86 104 70
60 9
60 - 63 102 42 9 46 100 120 85
80 125 75 50 11 56 11 125 148 105
3460
= 1 S| 61-63HRe J
Ly Lo | 1232.2 ISO - d;
L4
d L L, Ls t K de da da dy m
15-16 36 6 3,4 15 4,5 35 45 28
19-20 45 30 15 4,6 18 40 50 32
24-25 | 55 o5 57 23 55 50 63 40
30 - 32 62 28 58 72 48
37
38 - 40 67 30 6,8 33 6.6 70 85 58
48 - 50 38 86 104 70
47
60 - 63 89 42 9 46 9 100 120 85

POWER TOOLS ApS

Stengardsvej 19 - DK-4340 Tollgse - TIf. 59194058 - www.power-tools.dk - Mail: info@power-tools.dk




ISO DEMONTERBAR BOSNING

L1 1232.3 ISO - d;
d L L, Ls t k de da da dp m
15-16 29 23 6 3,4 15 45 35 45 28
19-20 38 23 4,6 18 ’ 40 50 32
24 - 25 15 57 23 55 50 63 40
30-32 45 30 ’ 28 ’ 58 72 48
38-40 55 o5 6,8 33 6,6 70 85 58
48 - 50 62 37 9 38 9 86 104 70

POWER TOOLS ApS

Stengardsvej 19 - DK-4340 Tollgse - TIf. 59194058 - www.power-tools.dk - Mail: info@power-tools.dk






